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1. Answer the following questions : 1x3=3
(a) Who was the original propounder of the
science of life?

A T

(b) What is the time period of Caraka?
T fEfiwe: w2

{c) How many Sthanas are there in the Caraka-
sarnhita?

F AT FHid ST Ffe
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(2) | (3)

2. Define 79T (quality) as you find in the Caraka- (b) T Th AT JERIAH Fedd |
sarhita. _ 2 W 39 P HEr WA 3 g |
TERHTRATER ToRaey Jfoumeay | (c) WA IRK ¥ SEAdfoRUead |
: BIRIETBq GAFTe §9 Frafsa ||
3. Answer any three of the following : 5%x3=15
; 5. Fill in the blanks : 1x4=4
HIEAY T G —
Rt ae—
(a) Mention the names of ®f&fT s, (a) Th ) e s g
. . a € computer anguage can Dbe classiie
wiafzeamT T foad) e,
(b) Define %4 (matter) as you find in the TS W97 ERIEIRTS TR |
-sarnhita. 2
T Ay (b) RAM stands for .
TARHRAGER T T RAM 3g |

(c) Discuss 9T and f3=1¥ Siddhanta (generic

: y (c) Three fields where computer technology is
concomitance and variant factor) as per

being used are = , and :
your text. ; A . = 1 p—
sfiaeafeE am- R R e , sfr T |
(d) Mention the qualities of Td. ' (d) ROM stands for :
Wﬂﬂ@ﬁ: F: | ‘ ROM 3;3%; |
) i i : 2x3=6
4. Explain with reference to the context any two of G- Ansychineifollowingiqueatens a
the following : 10x2=20 STIEAT: TFAT: HHET —
Wﬂ o= Ty AT — (a) Why is memory required in the computer?
e b Explain. '
(a) Temfed 9 gEHgEH EGUESEL
. i (AR FAAETEH afG?
T T o g ¥ o=l A wgh i ( ¥f)

EER ]
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( 4)

(b) Give three examples of output and input
devices.

ST - AT o™ SETeeorR 9e9 |

(c) Write a short note on mouse of the

computer.
AT -ERANHT  (ASY $id) TR e
feoqoft faemm|

7. Answer any one of the following : 10

TifRady Tt T Ear— |

(a) Discuss the functioning of Laser printer.
yaEEE (3WR fier 3fy)  wEve
AT =TT |

(b) What do you mean by computer software?

Describe three types of software and their
usages.

FOER-FRIR—FAT W@ T S’
FFYLR-WREAR §% P iy faa=awary |

* K
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